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CBT Practice test model answers

Financial Statements (FNST)

Practice assessment 4


Section 1
Task 1.1
[image: image2.png]Burgess Ltd
Statement of comprehensive income for the year ended 31 December 20X0

Revenue 46940 [Opening inventories 5 8410)
Cost o sales o411 [Purchases v 18642
lGross proft 27529 [Closing inventories 5 ErT
Distrioution costs (@810) 78411
[saministrative expenses 10465
- Distribu
profitrom operations 8253
[Fnance costs (1080) [Pistibution costs L 68450
lProfit before tax 7173| |Gain on disposal v (100)
- o] [Depreciation 5 2e50)
- — ” 5% 810
Profit for the period from contininuing operations|
(Other comprehensive income for the year 3000)
Administrati
[Total comprehensive income for the year 823
[Administative expenses ¥ 4726
[Depreciation 5 7]
[

|Current year 1857|

[Previous year 50|
1937|
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‘Statement of changes in equity for the year ended 31 December 20X0

[Balance at 1 January 20X0 12000 8106 20105)
[Changes in equity for 20X0

[Total comprenensive income. 3000 523 8235]
[Pvidends 400 400
llssue of share capital 0|
[Balance at 31 December 20X0 12000 3000 12042] 27042





Task 1.2
[image: image4.png]Burgess Ltd — Statement of financial position as at 31 December 20X0

[Non-current assets
[Property, plant and equipment

lInventories

Workings

Property, plant and equipment

[Property, plant and equipment - cost 48647
[Accumulated depreciation 26746
[Pisposal (@00)|
[Revaluation 3000)

24601

[Trade and other recevables

[Cash and cash equivalents

[EQUITY AND LIABILITIES

[Share capital

[Retained eamings

[Revaluation reserve

[Total equity

[Debenture loans

[Trade and other payables

[Taxiabilty

1857|

[Trade and otner r

[Trade and other receivables 13124]
[Prepayments 222]
13346

[Retained earings at 1 January 20X0 8108
[Fotat proftfor the year B
[Dhidends paia ~a00)

12002
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[Total liabilities 23309)

[Total equity and labilities 51251






Task 1.3

(a)

Revenue is the gross inflow of economic benefits during the period arising in the course of the ordinary activities of an entity (for example by selling goods or services) when those inflows result in increases in equity (not borrowings which increase liabilities), other than increases relating to contributions from equity participants (issues of shares will not therefore constitute revenue).
[IAS 18 Paragraph 7]

(b)

Revenue associated with the provision of a service should be recognised when all of the following conditions are satisfied:

· the amount of revenue can be measured reliably 

· it is probable that the economic benefits associated with the transaction will flow to the entity 

· the stage of completion of the transaction at the end of the reporting period can be measured reliably and

· the costs incurred for the transaction and the costs to complete the transaction can be measured reliably 

[IAS 18 Paragraph 20]

(c)

The revenue that may be recognised in respect of the contract with the retailer will be based upon the stage of completion of the transaction at the end of the reporting period, 31 December 20X0.

This will be 3/12 x £3,600 = £900.

No revenue may be recognised in respect of the sale of the equipment as this does not arise in the course of the ordinary activities of the company.


Task 1.4
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Assessment: Sample Paper

SJUHiORF727a8KE 8HE Questions

Membership No.: Sample Candidate Ref
Progress: 0%

‘A company made the following purchases and sales of a product during the year to 31 December 20X0.

[1 January

[B May [Purchased

[17 August [Purchased

|29 November _|Purchased

The company s0ld 3,000 units during the year @ £6.00 per unit
The cost of inventories is calculated using the FIFO method.

‘The company's gross profit for the year ended 31 December 20X0 will be:

£6,350

27,660

‘Beadnell Pic acquired 100% of the issued share capital and vofing rights of Catton Ltd on 1 January 20X0.

‘The consolidated cost of sales of Beadnell Pic and its subsidiary undertaking for the year ended 31
'December 20X0, before taking into account any adjustments required in respectof the information below,

Additional data

During the year Beadnell Pic sold goods which had cost £40,000 to Catton Ltd for £50,000.
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77 Duringthe year Beadnell Pic sold goods which had cost£40,000 to Catton Ltd for £50,000.

809% of these goods sillremain in inventories atthe end of the year.

‘The consolidated cost of sales for the year ending 31 December 20X0 will be:

£144,000

£150,000

£156,000

£160,000.

Which one of the following would NOT normally be classified as a cash flow arising from operating

activities, according to IAS 7 Statement of Cash Flows?

Acash payment to an emploee.

Acash receiptirom the sale of goods

Acash payment of tax

A cash receiptirom the sale of property.

Which of the following initial or subsequent costs incurred in relation to an item of property, plant and

‘equipment would normally be included in the asset's carrying amount, in accordance with the

recoanition principle stated in IAS 16 Property, plant and equipment?
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Task 1.1
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(1) Installation and assembly costs.
(2) Day-to-day servicing costs

W B (1) only
@
N

1

review?

£16,500

£15,800

Which of the following initial or subsequent costs incurred in relation to an item of property, plant and
‘equipment would normally be included in the asset's carrying amount, in accordance with the
recognition principle stated in IAS 16 Property, plant and equipment?

‘The directors of Ascot Ltd consider that a machine with a carrying amount of £24,000 may have become
impaired. At presentit could be sold for £16,000 and disposal costs would be £500. The directors estimate that
the machine will generate cash flows with a net presentvalue of £15,800 over the remainder of s useful ife.

‘Atwhat amount must Ascot Ltd recognise the machine in its financial statements following the impairment
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Task 1.4, continued
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Assessment: Sample Paper
“Time Remaining: 00-55:50

Task 1.1

Progress:
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:

‘The directors of Ascot Ltd consider that a machine with a carrying amount of £24,000 may have become
impaired. At presentit could be sold for £16,000 and disposal costs would be £500. The directors estimate that
the machine will generate cash flows with a net presentvalue of £15,800 over the remainder of s useful ife.

‘Atwhat amount must Ascot Ltd recognise the machine in its financial statements following the impairment
review?

£16,500

£15,800

£16,000

£24,000.

Internally generated goodwill can be recognised as an intangible assetin accordance with 1AS 33
Intangible Assets.

Is this statement true or false?

Tue
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Task 1.5

[image: image10.png](a) Calculate the figures for goodwill and non-controlling interest that would be included in the consolidated statement
of financial position of Ember Pic and s subsidiary undertaking as at 31 December 20X0.

Note:
You dontneedto use the workings to achieve full marks on the task. but data in the workings will be considered if you make
errors in the proforma.

lGooawill 104

[Non-controlling interest 232] Workings

[share capital - atrioutable to Ember Plc. 480
[Share capital - atributable to NCI B 20| [Share capital-atiioutable to Ember Pic (192)|
[Share premium - attributable to NCT v 48| [Retained eamings - atributable to Ember Plc 14|
[Retained eamings - atributable to NCI v 54| [Price paia 920)
[Non-controlling interest = 232 |Goodwill 104)





[image: image11.png]Madford Pic.
Consolidated statement of comprehensive income for the year ended
31 December 20X0

Workings.

[Equity holgers of the parent

56000

[Non-controlling inferest

1280

57280

[Revenue 215880) lWadford Pic 180400
[Costor sales 86420 [Barle Lia 36200
|6ross profit 129450 [Total inter-company adjustment 720
[oterincome 2320 215880

[Distribution costs 23100

[Administrative expenses. (29600)|

Profit from operations. 79080
ope [Madford Plc 72200

[Finance costs “5600)
[Barle Lia 14900)

Proft before tax 73480
[Totalinter-company agjustment (©80)

[Tax (16200)|
56420

profit for the period from continuing operations| 57280






Section 2
Task 2.1
[image: image12.png](a) State the formulas that are used to calculate each of the following ratios:

Inventory holding period (days)

Gearing

Gross profit percentage

‘Operating profit percentage

Assettumover (net assets)

Return on equity

Retum ontotal assets

Acidtestratio

(imetores  Gostof sales 368

[Non-currentiabilities / Total equity = non-current liabilties x 100

[Gross ot Revemue <100

[Froftram operators [ Revenue x 100

[Revenue Totalsssets  urentianiiies

[P aer o T oy x 90

[Frftrom operators I Totar ssses < 100

[Cortent et ~ mertores T urentabiiies





[image: image13.png](b) Calculate the above ratios to the nearest ONE DECIMAL PLACE.

Inventory holding period (days)

Gearing

Gross profit percentage

‘Operating profit percentage

Assettumover (net assets)

Return on equity

Retum ontotal assets

Acidtestratio

67

<5

145

13

[16.4

o7

days




NOTE:

The model answer shows answers rounded down but answers rounded up are equally valid.


Task 2.2
Notes for Sally regarding whether she should keep or sell her shares in Waskerley Plc
(a)
Earnings per share is worse.
· Less profit is available for distribution as a dividend in relation to each issued ordinary share/lower rate of return.
· Profits could have been lower, and/or 
· Waskerley Plc may have issued more ordinary shares.  This is the most likely explanation as the ‘Financing activities’ section of the statement of cash flows is positive.

Asset turnover (total assets) is worse.


· Assets are less efficient at generating sales/revenue.
  



                     

· Revenue could be lower.

· The company may have purchased some non-current assets.  This is supported by the ‘Investing activities’ section of the statement of cash flows which shows a large negative cash outflow.  

· Furthermore, the purchase of assets may have been made towards the end of the year, thus giving them less time to generate revenue for Waskerley Plc and/or the assets could have been subject to initial teething troubles.  

· The performance of the assets may improve in later years as they bed in.  


                                                            

· There could also have been a revaluation upwards of assets.  

· The fall could also indicate the presence of surplus cash following the raising of the finance (as there was an increase in cash and cash equivalents), old/obsolete inventories or that the company is not collecting in its trade receivables efficiently.  

Interest Cover is worse.








        

· Waskerley Plc is more risky/ there is less profit to meet interest payments.                     

· It may be more difficult to obtain finance in the future and there is likely to be a greater volatility of profits for ordinary shareholders.



 


        

· This could be caused by lower operating profits and/or

· higher interest payments.


                    

· Waskerley Plc may have taken out more loans during the year.
This is the most likely explanation as the ‘Financing activities’ section of the statement of cash flows is positive.
(b)

Sally should be advised to sell her shares as she is receiving a lower rate of return/the company is more risky.  The EPS, interest cover and asset turnover ratios have all declined.

Alternatively, it could be argued that Sally should keep her shares as it appears that money has been raised to finance the acquisition of assets which should hopefully improve the performance of the company and return in future years. 
Task 2.3
(a)

Purpose

· assist the Board of IASB in the development of future International Accounting Standards and in its review of existing International Accounting Standards;

· assist the Board of IASB in promoting harmonisation of regulations, accounting standards and procedures relating to the presentation of financial statements by providing a basis for reducing the number of alternative accounting treatments permitted by International Accounting Standards; 
· assist national standard-setting bodies in developing national standards;

· assist preparers of financial statements in applying International Accounting Standards and in dealing with topics that have yet to form the subject of an International Accounting Standard;

· assist auditors in forming an opinion as to whether financial statements conform with International Accounting Standards;

· assist users of financial statements in interpreting the information contained in financial statements prepared in conformity with International Accounting Standards; and

· provide those who are interested in the work of IASB with information about its approach to the formulation of International Accounting Standards.

(b)

Comparability

Information about a reporting entity is more useful if it can be compared with similar information about other entities and with similar information about the same entity for another period or another date.

Consistency, although related to comparability, is not the same. Consistency refers to the use of the same methods for the same items, either from period to period within a reporting entity or in a single period across entities. Comparability is the goal; consistency helps to achieve that goal.

Comparability is not uniformity. For information to be comparable, like things must look alike and different things must look different. 

Verifiability
Verifiability means that different knowledgeable and independent observers could reach consensus, although not necessarily complete agreement, that a particular depiction is a faithful representation. 

Verification can be direct or indirect.
Direct verification means verifying an amount or other representation through direct observation, for example, by counting cash. 

Indirect verification means checking the inputs to a model, formula or other technique and recalculating the outputs using the same methodology.

[Paragraph QC 26 – 28]

Timeliness
Timeliness means having information available to decision-makers in time to be capable of influencing their decisions. 

Generally, the older the information is the less useful it is so current information is more meaningful.
However, some information may continue to be timely long after the end of a reporting period because, for example, some users may need to identify and assess trends.

[Paragraph QC 29]

Understandability
Classifying, characterising and presenting information clearly and concisely makes it understandable.

Some phenomena are inherently complex and cannot be made easy to understand. 
Excluding information about those phenomena from financial reports might make the information in those financial reports easier to understand. However, those reports would be incomplete and therefore potentially misleading.

Financial reports are prepared for users who have a reasonable knowledge of business and economic activities and who review and analyse the information diligently.
At times, even well-informed and diligent users may need to seek the aid of an adviser to understand information about complex economic phenomena.

[Paragraph QC 30-32]

